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1(a) Simplify the expression 𝑥2 × 𝑥8

Circle your answer below.

[1 mark]

𝑥16 𝑥10 𝑥64 𝑥256

1(b) Simplify the expression 𝑎2 ÷ 𝑎8

Circle your answer below.

[1 mark]

𝑎4 𝑎
1
4 𝑎−6 𝑎8

1(c) Simplify the expression 𝑦2 8

Circle your answer below.

[1 mark]

𝑦16 𝑦256 𝑦10 𝑦64

Turn over for next question

Turn over ►

3
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2 Simplify the following expressions:

2(a) 4𝑥 −2

[1 mark]

Answer

2(b)
8
2
3

[1 mark]

Answer

2(c) 4−
3
2

[1 mark]

Answer

2(d) 81
1
2 × 24

[2 marks]

Answer

Turn over for next question

Turn over ►

5
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3 Simplify the following expression 

52 × 5−4

53

[2 marks]

Answer

4 Simplify the following expression.

5𝑥2𝑦3 × 2𝑥4𝑦−2

10𝑥6𝑦

[2 marks]

Answer

5 Write the following expression as a power of 5.

255

53

[2 marks]

Answer

Turn over for next question

Turn over ►

6
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6(a) Work out 27
2

3

[1 mark]

Answer

6(b) Work out 32
3

5

[1 mark]

Answer

6(c) Work out 64
3

2

[1 mark]

Answer

Turn over ►

3
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7(a) Express 3 𝑦 in the form 𝑦𝑘

[1 mark]

Answer

7(b) Express 
1
y y

in the form 𝑦𝑘

[3 marks]

Answer

7(c)
Show that 2

1

4
is equal to 1.5

[2 marks]

Answer

End of Questions

END

6
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